3-1

1. BEla=(5x+1) ~ b=(y+7,4) » Za=b > Hlx= vy =

HE 3 2

FERT : a=b = (5,x+1)=(y+7,4)
, {5=y+7 {x=3
.. =
X+1=4 y=-2
2. ¥ A(13,-9) - B(1,—4) > HIAB = ’ \ﬁ\=
BE (-12,5 : 13
AT |AB = (1-13,~4—(-9)) = (-12,5)
= [AB|=\-12)° +5* =ie9 =13
3. 5 AGB,-5) ~ B(6,-1) » 5k
(1)AB = . (2)@\:
(3)BA= . (4)‘B—A‘=
BE (DG4 5 (255 (3)(=3,4) 5 (45
FEHT 2 (1) AB =(6-3,~1-(=5)) = (3,4)
(2)‘@‘:#3%42 =25=5

(3)BA=(3-6,-5—(-1)) = (-3,-4)

(4)[BA| = (-3)" + (-4 =25 =5

4. BEP(43) - Q5,4 + HIPQ|= o

B2
il © PQ=(5-4,-4-3)=(1,-7)
[PQ =1 +(-7) =50 =512

5. BAEa=(-43) > Hlatyxs5eh Yy . ‘az
BE:]-4:3;5
AT : a g x B4 - y RS 3

H:J 4?13 =25=5

6. HIE » % AABF =ABCD=AFDE > H3AB=a -

—_—

F=b - BF=c - Hlla b c&ERAL

BD = .CD= - EF =
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la:b:c:-b

IS

_—

fi#hfi : |BC=AB=a

B5-AF -b
CO-BF -
EF--FE--AF-5

7. FU=(-4,1) ~ V=(-1Lk+5) ’%‘U‘=v » Ak =
EI -1

AT+ (—4) +12 = J(=1)* + (k +5)°

=16+1=1+(k+5) = (k+5)° =16
=>k+5=t4 =k=-15;-9

8. FLA(=3,2) ~ B(2,5) » C(=1,-2) BRSSP =% > E41AB=CD > HIDEEsfEs o

B @
f#HT B D(X, )

AB=(5,3) ~ CD=(Xx+1y+2)

AB=CD = (5,3) = (X+1,y+2)

.{x+1=5 {x:4

.. =

y+2=3 y=1

# D(4,1)
9. FP(-2,-3) ~ Q(-7,k-9) » #[PQ|=13 » Ak =
s =
BEATT © PQ= (-7~ (-2),k=9-(=3))=(-5.k~6)

‘P—Q‘ = J(=3 +(k—6)’ =13

=25+(k—-6)"=169 = (k —6)* =144
=k-6=%12 =k =185—6

10. ZEEa=(2,-3) » 5k ¢

Wxsfk=___ - @Qy#fk=___ Q- -

Eae 125 (235 313
FERT L (D)X 3R =2

@)y 5rE=-3
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3fa|=y2’ +(-3 =13
L. #PE4 - QU HIPR-___ ~QP-__ - [PQJ-
(_4,3) ) (4,-3) 35
AT |[PQ=(1-5,7-4)=(-4,3)

QP =(5-1,4-7)=(4,-3)

0]y o7 -5 -

12. E&[A1%8 V = (cos 60°,5in 60°) ’EUM=

s
Vi

1
M =\/0052 60°+sin> 60° =~/1 =1

13, ¥ a=(sin70° cos70°) - Hifa[ =

EE |
‘5‘ = \/sin2 70° +cos® 70° =+/1 =1
14, BEBaIXSER-9 - yEE 12 Hla= [al-

B |(-9,12) 1 15
AT - Ay x S8R -9 - y S ER 122 a=(=9,12)

‘5‘ = J(29? +122 =225 =15

15. H—F{FIUEH ABCD » Hrft A(-3,5) ~ BC =(1,~1) » HI| D BEAAfE 5y

B 2.9
AT * B D(X,Y)

7
D C

AD=BC = (x+3,y-5)=(1,—1)

X+3=1 X=-2
= = D(-2,4)
{y—S:—l {y=4

16. #ARB,4) ~ B(-1,2) " HIAB Y x5v&EE S yZAayER e

B 2
f#hTT © | AB =(-1-3,2-4) =(-1-/3,-2)

17. 3% A(-1,2) B AB=(5,-9) > HI B BhALE
EE (4T
R+ B B(X,y) » AIAB = (x—(~1),y-2) = (x+1,y —2) = (5,-9)

X+1=5 Xx=4
= = B(4,-7)
y-2=-9 7
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18. 3 AQ2,-9) - B(7,3) > HIAB=__

B (512) 5 (=5,-12) 5 13

fifT : |AB = (7-2,3-(-9)) = (5,12)
BA=(2-7,-9-3)=(-5,-12)

‘ﬁ‘:dsz +122 =169 =13

19. ¥%a=(6,-8) > Hlafyxsr &5 Dy R

, ‘ﬁ‘:

al =

B 6 -85 10
Al Aty xRk 60 y s e -8

‘5‘:46%(—8 2 = /100 =10

20. #u=(3a-4b,5),v=(4,2a-b) - Fu=v > Hla-b=

9
e

il : u=v= (3a—4b,5)=(4,2a-b)

®x4—®?§f5a:16:>a:?ﬁ@® ’?%':b:%
L1679

5 5 5
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1. 4B EIEHE ABCDEF » 25 AB=a -~ BC=b - H|OB = » EC =
E D
F C
7
A = B

M

42 la-b ; 2a-b

fiZff7 : (1)OB=0OA+AB =CB+AB=-b+a =a-b

G G —

(2)EC=ED+DC =AB+0B =a+(a—b) = 2a-b

2. Bla=(-4,2) ~ b=(1,-3) » Hla-b= » —a+3b=
EE (=55 (1,-8)
fiBHT : [a—b=(-4,2)~(1,-3) = (-5,5)
%5+ 3b= %(—4, 2)+3(1,-3) = (=2,1)+(3,-9) = (1,-8)
3. ©4&1CA=(2,-3) ~ CB=(5,1) » HIAB = : ‘E‘:

BEE (G455
fifff : |/AB=CB-CA=(5,1)-(2,-3)=(3,4)
[AB| =37 +4 =25 =5

1 A(2,—1), B(=3,2),C(=1,-2), D(2,~4) > EU‘AB+CD‘

f
AB =(-3-2,2—(-1)) =(-5,3)

CD=(2—(-1),~4-(-2))=(3,-2)
AB+CD =(-5,3)+(3,-2) =(-5+3,3+(=2)) =(-2,1)

g ‘ﬁwuc—o‘:w/(—z)z 112 =5

v =(12,-5) » BV 5 EAYER A A & °
<— 3

i < |V = a2y’ +(—5>2 ~13

12
Bz E =3 ——)
- H
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Z=

7. % EE a=3Xx-2y,2x+3y),b=(-121) > Fa=b > Hlx+y=

AL 252 e
B

fgtr = a=b
, {3x—2y=—1 {x=3
.. =
2X+3y =21 y=5

HIx+y=3+5=8

o]

. HXAC-18) ~ B(5,0)  #aHAB [ > H[al=30  Hla=
B (-18,24)
AT [AB = (5-(~1),0-8) = (6,-8) = AB| = /6" +(~8)’ =+/100 =10

81 B I [ B R — e - (68 (3 4
‘Aq 10 55

- 34
S a=30x(—2, ) = (~18,24
( s 5) ( )

9. B P F=/&Ea b cHa=(41) - c=(2,-4) » Fa+b=c > Hb=
EE (6,5
fihfr : la+b=c =>b=c-a =(2,-4)—(-4,1) = (2—(=4),-4 1) = (6,-53)

10. B41AB=(5,-5) ~ AC =(-1,3) » HIBC = . ‘g&‘:

B (-6,8) 510

fi#ffi : |/AB+BC = AC = BC = AC - AB = (~1,3)~ (5,-5) = (-6,8)
‘B—C‘ = J(=6)* +8 =100 =10

11. #a=(2,-4),b=(-11),c=3a-2b > Hlc=

B 14

fBAf © [c=3a-2b =3(2,-4)~2(~1,1) =(6,~12) +(2,-2) = (8,~14)

12. Bffla=(4.2) ~ b=(-15) > fI2b-afyEE A o

2110

0%
viai

fEHT ¢ 2b—a=2(~1,5)—(4,2) = (-2,10)~ (4,2) = (-2~ 4,10~ 2) = (=6,8)
<. [o-al =6y +8* =10
13. BEAiEEa=(-21) - b=@3,5) > @la+2b=__ - 3a-4b=
EE (41D 0 (-18,-17)
R ¢ a+2b=(-2,1)+2(3,5) = (-2,1)+(6,10) = (4,11)
3a—4b =3(-2,1)—4(3,5) = (-6,3) - (12,20) = (-18,-17)

14. 4Ry 1= ABCDE > &K
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(1) AE+EC = - (2)BE-DE= o

(3)@—($= ° (4)E+E+C—D+ﬁ+ﬁ= °
K D
A
C
B

%% 1 (1)AC : (2)BD ; (3)DA : (4)0

fi#ff7 (1) AE+EC = AC

(2)BE-DE =BE +ED =BD
(3)CA—CD =CA+DC =DC +CA=DA

o

C
%22 | _(a+b+c)sid+e

X

(1)'-'EIE+B+E ’ '.'@:_(E+B+E)

(2)EB=d +e

16. 41 FE > % AD=a,AB=b > 3tlla,b 37w HIBD= o
D C
A B

17. H[E R IE 7512 ABCDEF -3¢ AB=a ~ BC=b 3l a » b FR{GEF =

a
ol

o2 b a-b ; —a+2b

i < |EF ~CB=-BC=-b
E6=E5+EF=5+(—B)=§—B
§5=§6+§E=(—5+B)+B=—5+2B

18. a=(6,-8) » Hia Jj[a e fir ey .
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EEGD)
AT [a=46"+(-8)* =10
A MR R = () = (2,2

A 0106

19. %a=(2,3) * b=(-1,5) > 3k :

(1)a+2b= - (2)3b-2a= . (3)‘5—&:
B (1)(0,13) 5 (2)(=7,9) : 3)V13

R ¢ (1) a+2b=(2,3)+2(-1,5) = (2,3) +(~2,10)
= (2+(-2),3+10) =(0,13)
(2)3b—2a=3(-1,5)-2(2,3) = (-3,15)— (4,6)
= (-3-4,15-6) = (-7,9)

(3)a-b=(2,3)-(-1,5)=(2—-(-1),3-5)=(3,-2)

[a-b| =3+ (-2 =13

20. % A(=2,5),B(3,-1),C(2,-3),D(x, y) fp—>F il L FTVUE ABCD HIPU{EES » HIl D Z ARy .
%2 D(-3,3) —
f#df : AB=(3-(-2),-1-5)=(5,6) > DC=(2-x,-3-Y)
""ABCD V{70 » .. AB=DC
Al2—x=5=x=-3
3-y=-6=>y=3
i D(-3,3)

A(=2,5)

B(3,-1)

c(2,-3)
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3-3
1. B4 ‘5
gE 1200

bl=4 > Ha-b=—6 > Hlaflb »fk o

=3,

COS@—ﬁ:;i:—%:cos&:UOO
2. % AB=(k,3) ~ CD=(-2,6) > Hi :

(1) AB//CD - Hik = - (2% ABLCD - Hlk=
BE(H-1: )9
@l (1) AB//CD - .’.%:%:6k:—6:>k:—1

(2)’"ABLCD > .. AB-CD=0

= kx(-2)+3x6=0=-2k+18=0=k =9

3. EUAIEHE _EPUZE A4,-1) ~ B(k,2) ~ C(0,-3) ~ D(2,—4) » % AB//CD - Hilk =

B2
fify  |AB=(k—4,2—(~1)) =(k—4,3) ~ CD=(2-0,-4—(-3))=(2,~1)

'.'ﬁ//@:kzj=i:>k—4=—6:>k=—2
4. #a.b AW Ha+b[=8[a-b|=5 - Hla gb ZpkA :
KzE . 39
S 4

‘§+B‘ _8=[a+b| =[al +25-5+‘5r =64
. . 2 —2
‘a—B‘:Sj‘a—B‘ =|a
Wit 420 = 64— 25 =39 :5-6:%

5. 41[E > [F 5 ABCDHEER 5 HI :

(1)AB-AC = - (2)AC-BD=

—_ = =2
—2a-b+|b| =25

A B

C

B2 (1255 (2)0

(I)E'E=‘EHE‘COS4SO =5x5\/§x%=25

5 .
A 35° B

5J2

D (&

(2)%-@:‘@“@‘%5900 =52x542%0=0

A = B

D
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6. a=(3,4),b=(-12) > Hla-b= o

EE:S
a'b:3x(—1)+4x2:—3+8:5
7. %a=(@1) - b=(k.5 - Zasb - k= -

4 1

cccalh . ——=—=2k=20=k=10
fEEAfT K3
8. AB=(3,-4),CD=(4,a) » % AB//CD - Hia= o
e 16
EE
Gl : o AB/TD - .2 =" o3a=-16=a=—10
4 a 3
9. #Fa=(2,-1) > b=(4,3) > Hla-b= o
E% s

BRI : a-b=2x4+(-1)x3=8-3=5

%‘U‘zs ~ =6 Hu#lv gy 23” s HIU-V = .
EE 1S
ERT : U-V:‘U‘Mcos%”=‘U‘Mcoslzo°=5x6x(_%):_

1. #Ha=@5,1) -~ b=(3,-2) ~ c=(-1,4) » Hla-b+a-c= o
B
BT | bre=(3,-2)+(-1,4)=(3-1,-2+4)=(2,2)

a-b+a-c=a-(b+c)=(51)-(2,2)=5x2+1x2=12

12. Eifal=6 - [p|=11 > Hagbsfres  #lab= :
B 33
5-52‘5“5‘005600:6x11x%:33

**\5\= b|=1- Hasbrygermmisoe  Blpysabl_ -
=3 TARNE]
E-B:‘EHE‘COSISO":2-1~(—£)=—\/§
14 =5 Hamb 2psfis 6o flja-2b-___ -

=9x3’ —12x6+4x5° =81-72+100 =109

‘35—25‘2 =9‘5‘2 ~12a-b+4pb 2
o [pa-2b|= 44109 (EFE)

15. #%A(-13),B(2,5,C(2,-4),D(x,y) » #5ABLCD - Hl3x+2y=__ -
-2

fi#ff © [AB=(2—(-1),5-3)=(3,2)
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CD=(X-2,y—(-4)) = (x—2,y +4)

""ABLCD - .. HNfEE 0

HI3(x=2)+2(y+4)=0 = 3X-6+2y+8=0 = 3x+2y+2=0
H3x+2y=-2

16 ¥ AABC HIE=A > HiEER 105 HJAB-AC= -

B 50
. AABC ByIE =i

- AB-AC =‘EHA—C‘cos6oozlox10x% =50

17. =4 - [p|=6 - afbyrcrsr4s5° » Ala-b= o
= Al
AT - 5-52‘5“E‘cos45°:4x6x%:12\/§
18, 9‘5‘5‘: a Bilb > A B 60° ’au‘35+26‘:
EE:|6V3
R ¢ [32+2b]
=9‘5‘2+12§-B+4‘6‘2
=9x22 +12x2x3xc0s60°+4x3> =36+36+36 =108
.-.\35+26\:i6ﬁ (aFE)
La= (5 3),b=(-1,2),c=(3,-2) > Hla-b+b-c= o
/§
5 b=-5+6=1
bc=-3-4=-7

EUE-B+B-E=1+(_7) =—6

0. %a=(25) > b=(6,-1) » Hla-b= .

[\

o4
v

- (7

£
:n

2x6+5x(-1)=12-5=7
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